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MES-032 : COMMUNICATION AND 

INFORMATION TECHNOLOGY 

Time : 3 Hours] 	(Maximum Weightage : 70% 

Note: All questions are compulsory. All questions carry 

ea ual weiahtaae.  

1. Answer the following question in about 600 words: 

Define "Interactive Media". Explain the use of 

various interactive media for learning. 

Or 

Discuss general principles to be considered while 

planning communication for education and training. 

Support your answer with'an illustration. 

2. Answer the following questions in about 600 words: 

Discuss the types and use of various access 

devices for self-learning materials. 
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Or 

Discuss the behaviourist theory of learning with its 

educational implications. 

	

3. 	Answer any four  of the following in about 150 words 

each: 

(a) Telematics in training 

(b) Technology as an aid for simulation 

(c) Advantages and disadvantages of 

teleconferencing. 

(d) Production Stages of an audio programme. 

(e) Emerging trends in Broadcasting. 

(f) Importance of interactivity in communication 

process. 

	

4. 	Answer the following question in about 600 words: 

Identify a topic of your choice and illustrate how you 

can integrate various technologies with teaching-

learning process to teach that topic. 
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